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J Nonequivalent Resonance Forms

which ones are better?

Rules
1. Octet rule (wins over all other)

g + + ...1
INSQ:¢> IN=0
~ /\ . 6e —
major e
.mmU & .m_u,“\/
B o H

85 major



@

2. When there are two or more forms with

complete octets: electronegativity rules.

Example: enolate ion

H
(® charge on more c¥]l— ¢ ﬁ\
e-neqgative element N R\
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major
. II+ . . + PP
But: ‘N A\ i e .M/MH 0 When in doubt, rule 1 wins |
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3. Minimum charge separation
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Note: 7:C::0:7 Rule I wins|
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@ 6. Curved (full head) arrows show electron pair movement
- The arrow starts where the electrons are currently located ”

The arrow ends where the electrons will end up after the electron
movement

7. Account for formal charges. If a resonance structure has a net formal

charge, then related resonance structure will have the same net
formal charge.
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